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ORA2Y JI23Hl 250,000& = 12& 3,000
OANREE FL(SAMX S) 300,000& = 12 3,600
OHZARINI 428 F¢ 12,120
SEV\PI 300,000& * 201 = 444 « 23] 4,800
CHBIHI(EHW, ZHEE)
300,000& = 3CH » 444 x 1.53] 5,400
CHBIEHII(EW) 300,000& * 300 * 23| 1,800
oA 120,000& = 1CH » 13 120
OMZEXNUB 20,000& = 32 » 12& 720
O&=J| 2z 49,9003 = 400 » 12& 2,396
o=l 7,000 * 27 * 7L « 12& 15,876
Og &l 50,0003 = 4% = 52¢ 10,400
02 8323l 160 160
OXtS XAl 60,0002 * 10K 60
OdRE3 100,000& * 104 100
202 odl 1,760 1,760
01 = LH o4 1l 1,760 1,760
OoHlazZ28 2ol 1,760
203 PR =&l 5,080 5,080
02 ZRI&HRF=EH| 880 880
OF AL S = A 40,000 * 229 880
04 BN2AALEAY| 4,200 4,200
ORMEgAREAY| 350,0008 * 128 4,200




